A minor error has been uncovered in the FORTRAN version of the SEM-2 archive file unpacking routine, (subroutine readArcSub ) that is detailed in Appendix E of the SEM-2 Instrument Descriptions and Archive Data Documentation.  About 20 lines from the end of this FORTRAN subroutine code the statement:

if(mdf(2,3).eq.1) tedback(2,3) = -999.

should be replaced with

if(mdf(26,j).eq.1) tedback(2,3) = -999.

A revised Appendix E that has corrected that error is available.

This error affected only the background readout from the 30-degree, 1-20 keV proton analyzer in the TED instrument compliment. This single data point is the tedback(2,3) entry in the tedback array returned from the unpacking routine.  The error arises only in cases when that data point was lost in the processing of the data received from the satellite and a default pad value was inserted in its place.  In those instances the unpacking routine did not access the missing data flag correctly and returned a value of 1998848.0 for that tedback entry rather than the correct value of –999.0 for missing data.  This particular error occurred on the average of 1 or 2 times a day and did not affect any other data point in the SEM-2 archive data.  Finally, this error was not present in the C version of the SEM-2 archive data unpacking routine.

